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Chip 0 Vt50 at 2.00fC Nent = 128    
 1.638 ±Constant = 15.13 

 0.1492 ±Mean     = 135.7 

 0.1055 ±Sigma    = 1.687 

Chip 0 Vt50 at 2.00fC Nent = 128    
 1.638 ±Constant = 15.13 

 0.1492 ±Mean     = 135.7 

 0.1055 ±Sigma    = 1.687 
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Chip 1 Vt50 at 2.00fC Nent = 128    
 1.561 ±Constant = 14.42 

 0.1565 ±Mean     = 134.8 

 0.1107 ±Sigma    = 1.771 

Chip 1 Vt50 at 2.00fC Nent = 128    
 1.561 ±Constant = 14.42 

 0.1565 ±Mean     = 134.8 

 0.1107 ±Sigma    = 1.771 
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Chip 2 Vt50 at 2.00fC Nent = 128    
 2.049 ±Constant = 18.93 

 0.1192 ±Mean     = 134.6 

 0.08431 ±Sigma    = 1.349 

Chip 2 Vt50 at 2.00fC Nent = 128    
 2.049 ±Constant = 18.93 

 0.1192 ±Mean     = 134.6 

 0.08431 ±Sigma    = 1.349 
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Chip 3 Vt50 at 2.00fC Nent = 128    
 1.896 ±Constant = 17.52 

 0.1288 ±Mean     = 135.9 
 0.0911 ±Sigma    = 1.458 

Chip 3 Vt50 at 2.00fC Nent = 128    
 1.896 ±Constant = 17.52 

 0.1288 ±Mean     = 135.9 
 0.0911 ±Sigma    = 1.458 
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Chip 4 Vt50 at 2.00fC Nent = 128    
 1.697 ±Constant = 15.68 

 0.1439 ±Mean     = 135.3 
 0.1018 ±Sigma    = 1.629 

Chip 4 Vt50 at 2.00fC Nent = 128    
 1.697 ±Constant = 15.68 

 0.1439 ±Mean     = 135.3 
 0.1018 ±Sigma    = 1.629 
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Chip 5 Vt50 at 2.00fC Nent = 128    
 1.616 ±Constant = 14.93 

 0.1512 ±Mean     = 134.9 
 0.1069 ±Sigma    =  1.71 

Chip 5 Vt50 at 2.00fC Nent = 128    
 1.616 ±Constant = 14.93 

 0.1512 ±Mean     = 134.9 
 0.1069 ±Sigma    =  1.71 
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Chip 0 Gain at 2.00fC Nent = 128    

 2.347 ±Constant = 21.68 
 0.1041 ±Mean     = 50.19 
 0.0736 ±Sigma    = 1.178 

Chip 0 Gain at 2.00fC Nent = 128    

 2.347 ±Constant = 21.68 
 0.1041 ±Mean     = 50.19 
 0.0736 ±Sigma    = 1.178 
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Chip 1 Gain at 2.00fC Nent = 128    

 2.036 ±Constant = 18.81 
  0.12 ±Mean     = 48.96 
 0.08483 ±Sigma    = 1.357 

Chip 1 Gain at 2.00fC Nent = 128    

 2.036 ±Constant = 18.81 
  0.12 ±Mean     = 48.96 
 0.08483 ±Sigma    = 1.357 
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Chip 2 Gain at 2.00fC Nent = 128    

 2.394 ±Constant = 22.11 
 0.1021 ±Mean     = 49.82 
 0.07217 ±Sigma    = 1.155 

Chip 2 Gain at 2.00fC Nent = 128    

 2.394 ±Constant = 22.11 
 0.1021 ±Mean     = 49.82 
 0.07217 ±Sigma    = 1.155 
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Chip 3 Gain at 2.00fC Nent = 128    
 2.734 ±Constant = 25.25 

 0.08936 ±Mean     = 49.54 

 0.06319 ±Sigma    = 1.011 

Chip 3 Gain at 2.00fC Nent = 128    
 2.734 ±Constant = 25.25 

 0.08936 ±Mean     = 49.54 

 0.06319 ±Sigma    = 1.011 

Gain (mV/fC)0 10 20 30 40 50 60 70 80 90 100

n
(C

h
an

n
el

s)

0

5

10

15

20

25
Chip 4 Gain at 2.00fC Nent = 128    

 2.531 ±Constant = 23.38 
 0.09653 ±Mean     = 49.15 

 0.06826 ±Sigma    = 1.092 

Chip 4 Gain at 2.00fC Nent = 128    
 2.531 ±Constant = 23.38 

 0.09653 ±Mean     = 49.15 

 0.06826 ±Sigma    = 1.092 
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Chip 5 Gain at 2.00fC Nent = 128    
  1.96 ±Constant = 18.11 

 0.1246 ±Mean     = 49.68 

 0.08813 ±Sigma    =  1.41 

Chip 5 Gain at 2.00fC Nent = 128    
  1.96 ±Constant = 18.11 

 0.1246 ±Mean     = 49.68 

 0.08813 ±Sigma    =  1.41 
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Chip 0 Extrapolated Offset Nent = 128    

 4.977 ±Constant = 45.97 

 0.1571 ±Mean     =  35.1 
 0.1111 ±Sigma    = 1.777 

Chip 0 Extrapolated Offset Nent = 128    
 4.977 ±Constant = 45.97 

 0.1571 ±Mean     =  35.1 
 0.1111 ±Sigma    = 1.777 
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Chip 1 Extrapolated Offset Nent = 128    
 4.742 ±Constant =  43.8 

 0.1649 ±Mean     = 36.44 
 0.1166 ±Sigma    = 1.865 

Chip 1 Extrapolated Offset Nent = 128    
 4.742 ±Constant =  43.8 

 0.1649 ±Mean     = 36.44 
 0.1166 ±Sigma    = 1.865 
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Chip 2 Extrapolated Offset Nent = 128    
 4.715 ±Constant = 43.56 

 0.1658 ±Mean     = 34.79 
 0.1172 ±Sigma    = 1.876 

Chip 2 Extrapolated Offset Nent = 128    
 4.715 ±Constant = 43.56 

 0.1658 ±Mean     = 34.79 
 0.1172 ±Sigma    = 1.876 
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Chip 3 Extrapolated Offset Nent = 128    

 5.863 ±Constant = 54.16 
 0.1333 ±Mean     =  35.5 
 0.09429 ±Sigma    = 1.509 

Chip 3 Extrapolated Offset Nent = 128    

 5.863 ±Constant = 54.16 
 0.1333 ±Mean     =  35.5 
 0.09429 ±Sigma    = 1.509 
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Chip 4 Extrapolated Offset Nent = 128    

 6.029 ±Constant = 55.69 
 0.1297 ±Mean     = 35.59 
 0.09169 ±Sigma    = 1.467 

Chip 4 Extrapolated Offset Nent = 128    

 6.029 ±Constant = 55.69 
 0.1297 ±Mean     = 35.59 
 0.09169 ±Sigma    = 1.467 
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Chip 5 Extrapolated Offset Nent = 128    

 4.855 ±Constant = 44.85 
 0.161 ±Mean     = 34.89 
 0.1138 ±Sigma    = 1.822 

Chip 5 Extrapolated Offset Nent = 128    

 4.855 ±Constant = 44.85 
 0.161 ±Mean     = 34.89 
 0.1138 ±Sigma    = 1.822 

Input Noise (ENC)0 500 1000 1500 2000 2500

n
(C

h
an

n
el

s)

0

5

10

15

20

25

30

35

40
Chip 0 Input Noise at 2.00fC Nent = 128    

 4.237 ±Constant = 39.14 
 3.844 ±Mean     =  1741 

 2.718 ±Sigma    = 43.49 

Chip 0 Input Noise at 2.00fC Nent = 128    
 4.237 ±Constant = 39.14 

 3.844 ±Mean     =  1741 

 2.718 ±Sigma    = 43.49 
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Chip 1 Input Noise at 2.00fC Nent = 128    
 4.776 ±Constant = 44.12 

  3.41 ±Mean     =  1777 

 2.411 ±Sigma    = 38.58 

Chip 1 Input Noise at 2.00fC Nent = 128    
 4.776 ±Constant = 44.12 

  3.41 ±Mean     =  1777 

 2.411 ±Sigma    = 38.58 
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Chip 2 Input Noise at 2.00fC Nent = 128    
 3.933 ±Constant = 36.33 

 4.141 ±Mean     =  1689 

 2.928 ±Sigma    = 46.85 

Chip 2 Input Noise at 2.00fC Nent = 128    
 3.933 ±Constant = 36.33 

 4.141 ±Mean     =  1689 

 2.928 ±Sigma    = 46.85 
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Chip 3 Input Noise at 2.00fC Nent = 128    

 4.437 ±Constant = 40.98 
 3.671 ±Mean     =  1693 
 2.596 ±Sigma    = 41.53 

Chip 3 Input Noise at 2.00fC Nent = 128    

 4.437 ±Constant = 40.98 
 3.671 ±Mean     =  1693 
 2.596 ±Sigma    = 41.53 
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Chip 4 Input Noise at 2.00fC Nent = 128    

 4.445 ±Constant = 41.06 
 3.664 ±Mean     =  1692 
 2.591 ±Sigma    = 41.46 

Chip 4 Input Noise at 2.00fC Nent = 128    

 4.445 ±Constant = 41.06 
 3.664 ±Mean     =  1692 
 2.591 ±Sigma    = 41.46 
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Chip 5 Input Noise at 2.00fC Nent = 128    

 3.576 ±Constant = 33.03 
 4.555 ±Mean     =  1691 
  3.22 ±Sigma    = 51.53 

Chip 5 Input Noise at 2.00fC Nent = 128    

 3.576 ±Constant = 33.03 
 4.555 ±Mean     =  1691 
  3.22 ±Sigma    = 51.53 
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Chip 0 Vt50 at 2.00fC Nent = 128    
  1.94 ±Constant = 17.92 

 0.126 ±Mean     = 135.1 

 0.08906 ±Sigma    = 1.425 

Chip 0 Vt50 at 2.00fC Nent = 128    
  1.94 ±Constant = 17.92 

 0.126 ±Mean     = 135.1 

 0.08906 ±Sigma    = 1.425 
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Chip 1 Vt50 at 2.00fC Nent = 128    
 1.739 ±Constant = 16.06 

 0.1405 ±Mean     = 134.7 

 0.09936 ±Sigma    =  1.59 

Chip 1 Vt50 at 2.00fC Nent = 128    
 1.739 ±Constant = 16.06 

 0.1405 ±Mean     = 134.7 

 0.09936 ±Sigma    =  1.59 
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Chip 2 Vt50 at 2.00fC Nent = 128    
 1.667 ±Constant =  15.4 

 0.1466 ±Mean     = 136.7 

 0.1036 ±Sigma    = 1.658 

Chip 2 Vt50 at 2.00fC Nent = 128    
 1.667 ±Constant =  15.4 

 0.1466 ±Mean     = 136.7 

 0.1036 ±Sigma    = 1.658 

Vt50 (mV)90 100 110 120 130 140 150 160 170 180

n
(C

h
an

n
el

s)

0

5

10

15

20

25
Chip 3 Vt50 at 2.00fC Nent = 128    

 1.889 ±Constant = 17.45 

 0.1293 ±Mean     = 136.1 
 0.09143 ±Sigma    = 1.463 

Chip 3 Vt50 at 2.00fC Nent = 128    
 1.889 ±Constant = 17.45 

 0.1293 ±Mean     = 136.1 
 0.09143 ±Sigma    = 1.463 
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Chip 4 Vt50 at 2.00fC Nent = 128    
 0.5093 ±Constant = 4.572 

 0.4819 ±Mean     = 131.9 
 0.3411 ±Sigma    = 5.322 

Chip 4 Vt50 at 2.00fC Nent = 128    
 0.5093 ±Constant = 4.572 

 0.4819 ±Mean     = 131.9 
 0.3411 ±Sigma    = 5.322 
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Chip 5 Vt50 at 2.00fC Nent = 128    
 1.627 ±Constant = 15.03 

 0.1502 ±Mean     = 136.3 
 0.1062 ±Sigma    = 1.699 

Chip 5 Vt50 at 2.00fC Nent = 128    
 1.627 ±Constant = 15.03 

 0.1502 ±Mean     = 136.3 
 0.1062 ±Sigma    = 1.699 
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Chip 0 Gain at 2.00fC Nent = 128    

 2.841 ±Constant = 26.25 
 0.08598 ±Mean     = 49.95 

 0.06079 ±Sigma    = 0.9727 

Chip 0 Gain at 2.00fC Nent = 128    

 2.841 ±Constant = 26.25 
 0.08598 ±Mean     = 49.95 

 0.06079 ±Sigma    = 0.9727 
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 2.025 ±Constant =  18.7 
 0.1207 ±Mean     = 50.81 
 0.08531 ±Sigma    = 1.365 
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 2.355 ±Constant = 21.75 

 0.1038 ±Mean     = 50.41 

 0.07336 ±Sigma    = 1.174 

Chip 3 Gain at 2.00fC Nent = 128    
 2.355 ±Constant = 21.75 

 0.1038 ±Mean     = 50.41 

 0.07336 ±Sigma    = 1.174 
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 0.2469 ±Constant = 2.277 

 0.9911 ±Mean     = 45.16 

 0.7026 ±Sigma    = 11.21 
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 5.572 ±Constant = 51.47 
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 5.403 ±Constant = 49.91 

 0.1447 ±Mean     = 35.34 
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 5.142 ±Constant =  47.5 

 0.152 ±Mean     = 33.75 
 0.1075 ±Sigma    =  1.72 
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 4.914 ±Constant = 45.39 
 0.1591 ±Mean     = 34.23 

 0.1125 ±Sigma    =   1.8 
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 0.8987 ±Constant = 8.302 
 0.8699 ±Mean     = 36.41 
 0.6151 ±Sigma    = 9.842 
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 4.915 ±Constant =  45.4 
 0.1591 ±Mean     = 34.56 

 0.1125 ±Sigma    =   1.8 
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 0.1125 ±Sigma    =   1.8 
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 5.657 ±Constant = 52.26 

 2.879 ±Mean     =  1706 

 2.036 ±Sigma    = 32.57 
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 2.036 ±Sigma    = 32.57 
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 5.081 ±Constant = 46.94 

 3.205 ±Mean     =  1694 

 2.266 ±Sigma    = 36.26 
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 4.389 ±Constant = 40.54 
 3.711 ±Mean     =  1697 
 2.624 ±Sigma    = 41.98 
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 0.5492 ±Constant = 5.051 

 30.26 ±Mean     =  1502 
 21.93 ±Sigma    = 337.5 
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 0.5492 ±Constant = 5.051 

 30.26 ±Mean     =  1502 
 21.93 ±Sigma    = 337.5 
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 3.507 ±Constant =  32.4 
 4.644 ±Mean     =  1671 
 3.284 ±Sigma    = 52.54 
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 3.507 ±Constant =  32.4 
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 3.284 ±Sigma    = 52.54 



ATLAS SCT Module Test:  Response Curve  -  Fri Oct 15 18:46:15 2004  -  UNKNOWN

Page 4   Run 6807   Start Scan 44   Stream 1   Module 0 (20220170200967mDaqLT) - Type .  T0 31.0C

Charge(fC)
0 1 2 3 4 5 6 7 8

vt
50

(m
V

)

0

100

200

300

400

500

600

Chip 0 Response Curve Nent = 0      Chip 0 Response Curve Nent = 0      

Charge(fC)
0 1 2 3 4 5 6 7 8

vt
50

(m
V

)

0

100

200

300

400

500

600

Chip 1 Response Curve Nent = 0      Chip 1 Response Curve Nent = 0      

Charge(fC)
0 1 2 3 4 5 6 7 8

vt
50

(m
V

)

0

100

200

300

400

500

600

Chip 2 Response Curve Nent = 0      Chip 2 Response Curve Nent = 0      

Charge(fC)
0 1 2 3 4 5 6 7 8

vt
50

(m
V

)

0

100

200

300

400

500

600

Chip 3 Response Curve Nent = 0      Chip 3 Response Curve Nent = 0      

Charge(fC)
0 1 2 3 4 5 6 7 8

vt
50

(m
V

)

0

100

200

300

400

500

600

Chip 4 Response Curve Nent = 0      Chip 4 Response Curve Nent = 0      

Charge(fC)
0 1 2 3 4 5 6 7 8

vt
50

(m
V

)

0

100

200

300

400

500

600

Chip 5 Response Curve Nent = 0      Chip 5 Response Curve Nent = 0      

Charge(fC)
0 1 2 3 4 5 6 7 8

G
ai

n
(m

V
/f

C
)

0
10
20
30
40
50
60
70
80
90

100
Chip 0 Gain Nent = 0      Chip 0 Gain Nent = 0      

Charge(fC)
0 1 2 3 4 5 6 7 8

G
ai

n
(m

V
/f

C
)

0
10
20
30
40
50
60
70
80
90

100
Chip 1 Gain Nent = 0      Chip 1 Gain Nent = 0      

Charge(fC)
0 1 2 3 4 5 6 7 8

G
ai

n
(m

V
/f

C
)

0
10
20
30
40
50
60
70
80
90

100
Chip 2 Gain Nent = 0      Chip 2 Gain Nent = 0      

Charge(fC)
0 1 2 3 4 5 6 7 8

G
ai

n
(m

V
/f

C
)

0
10
20
30
40
50
60
70
80
90

100
Chip 3 Gain Nent = 0      Chip 3 Gain Nent = 0      

Charge(fC)
0 1 2 3 4 5 6 7 8

G
ai

n
(m

V
/f

C
)

0
10
20
30
40
50
60
70
80
90

100
Chip 4 Gain Nent = 0      Chip 4 Gain Nent = 0      

Charge(fC)
0 1 2 3 4 5 6 7 8

G
ai

n
(m

V
/f

C
)

0
10
20
30
40
50
60
70
80
90

100
Chip 5 Gain Nent = 0      Chip 5 Gain Nent = 0      

Charge(fC)
0 1 2 3 4 5 6 7 8

O
u

tp
u

t 
N

o
is

e(
m

V
)

0

5

10

15

20

25

30
Chip 0 Output Noise Nent = 0      Chip 0 Output Noise Nent = 0      

Charge(fC)
0 1 2 3 4 5 6 7 8

O
u

tp
u

t 
N

o
is

e(
m

V
)

0

5

10

15

20

25

30
Chip 1 Output Noise Nent = 0      Chip 1 Output Noise Nent = 0      

Charge(fC)
0 1 2 3 4 5 6 7 8

O
u

tp
u

t 
N

o
is

e(
m

V
)

0

5

10

15

20

25

30
Chip 2 Output Noise Nent = 0      Chip 2 Output Noise Nent = 0      

Charge(fC)
0 1 2 3 4 5 6 7 8

O
u

tp
u

t 
N

o
is

e(
m

V
)

0

5

10

15

20

25

30
Chip 3 Output Noise Nent = 0      Chip 3 Output Noise Nent = 0      

Charge(fC)
0 1 2 3 4 5 6 7 8

O
u

tp
u

t 
N

o
is

e(
m

V
)

0

5

10

15

20

25

30
Chip 4 Output Noise Nent = 0      Chip 4 Output Noise Nent = 0      

Charge(fC)
0 1 2 3 4 5 6 7 8

O
u

tp
u

t 
N

o
is

e(
m

V
)

0

5

10

15

20

25

30
Chip 5 Output Noise Nent = 0      Chip 5 Output Noise Nent = 0      

Charge(fC)
0 1 2 3 4 5 6 7 8

In
p

u
t 

N
o

is
e(

E
N

C
)

0

500

1000

1500

2000

2500
Chip 0 Input Noise Nent = 0      Chip 0 Input Noise Nent = 0      

Charge(fC)
0 1 2 3 4 5 6 7 8

In
p

u
t 

N
o

is
e(

E
N

C
)

0

500

1000

1500

2000

2500
Chip 1 Input Noise Nent = 0      Chip 1 Input Noise Nent = 0      

Charge(fC)
0 1 2 3 4 5 6 7 8

In
p

u
t 

N
o

is
e(

E
N

C
)

0

500

1000

1500

2000

2500
Chip 2 Input Noise Nent = 0      Chip 2 Input Noise Nent = 0      

Charge(fC)
0 1 2 3 4 5 6 7 8

In
p

u
t 

N
o

is
e(

E
N

C
)

0

500

1000

1500

2000

2500
Chip 3 Input Noise Nent = 0      Chip 3 Input Noise Nent = 0      

Charge(fC)
0 1 2 3 4 5 6 7 8

In
p

u
t 

N
o

is
e(

E
N

C
)

0

500

1000

1500

2000

2500
Chip 4 Input Noise Nent = 0      Chip 4 Input Noise Nent = 0      

Charge(fC)
0 1 2 3 4 5 6 7 8

In
p

u
t 

N
o

is
e(

E
N

C
)

0

500

1000

1500

2000

2500
Chip 5 Input Noise Nent = 0      Chip 5 Input Noise Nent = 0      


